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BC Calculus

Ratio, Root, or Alternating
Review

R1. Given the equation y %ing(g],
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Answers:

1.) A.diverges by ratio B. converges by ratio C. inclusive

2.) Divergent by ratio

3.) Absolutely convergent by ratio
4.) Converges by altermating

5.) Converges by alternating

6.) Absolutely convergent by ratio
7.) Absolutely convergent by rafio
8.) Diverges by ratio

9.) Diverges by ratio
10.)Converges by alternating
11.)Converges by alternating
12.)Converges by Comparison
13.)Converges Absolutely by Ratio
14.)Converges Absolutely by Ratio
15.)Converges Absolutely by Root
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R2. The position function of a moving
particle on the x-axis is given as
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